Differential
Equation

Valid for:
- Alevels Further Mathematics
- Undergraduate first year maths
- Undergraduate second year maths
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V= (Acos 3t + B3in3t)
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Itis given that x = /"y and

:L]:l' { 1 : 1.{_1]' f 2 - ' . .
r—=+\4r +61°)—+\13r + 12r +61)y = 6le?".
dr di '

(a) Show that
dx 4 495 4 13x=6let".
dr dr

‘ind the general solution for y in terms of 7.
(b) Find the general solution for y in terms of 7
d™x dx d 'y

- . _ 2 dy . dy , - o,
Answers: (a) —+ 4—+13x=1 ——+61"—+61v+4" —+12r°y+13r y=61e
dr” dr = dr dr

(b) y=r"¢*(Acos3t+ Bsin3t)+4t7¢"
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